ma-interface-consistent2!4°

ma-interface-consistent2(es;I)
=qef Vi:Id.
(7 € ma-interface-locs(1))
= (Vk:{k:Knd| Thasloc(k;i)} .
(k € ma-interface-dom(I;i))
= (Ve@i. (kind(e) = k) = (valtype(e) Cr ma-interface-valtype(I;i;k))
& (Va:Id. vartype(i;x) Cr ma-interface-ds(I;i)(z)?Top)))

clarification:

ma-interface-consistent2(es;I)
=def Vi:Id.
(¢ € ma-interface-locs(I) € 1d)
= (Vk:{k:Knd| Thasloc(k;i)} .
(k € ma-interface-dom(I;i) € Knd)
= (alle-at(es;i;e.(es-kind(es; ) = k € Knd)
= (es-valtype(es; €) Cr ma-interface-valtype(I;isk)))
& (Va:1d. es-vartype(es; i; ) Cr fpf-cap(ma-interface-ds(I;i);IdDeq;x;Top))))

http://www.nuprl.org/FDLcontent /p0-963683_/p55-257643_{ ma-interface-consistent2}.html



